Derivatives of
Trigonometric
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Directions: Find the derivative of each.
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Directions: Find y".
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8) Find the lines that are tangent and normal to the curve
y=tanx at (%'lj in slope-intercept form.
\?I:smczl{ = { = \ = | = _lﬁ._.._fq:nz
: e 2f) 1m0 RN
Tl o coS(F)  cosias)  (FH)T R
T_ '8 _ o
RS
It =
fqunlluu of —ﬁzuseu&- Cquallon o Mortnal = ;

Lines
RN Y.ov..



Line. I

7 ny,
gz (Th 1\) gz -3 (Th, )
Y- m(x-x,) Y= (%= X,

y-1=alx- ) y-\= :a()(,-' Ty)
\{_|:a,(_’§_ \i\_ £ o /‘8

+] + |
\Y:Qx—“)wr\\ [y— X+ B+—|

Directions: Find the derivative of each using the chain rule.
X
9) y =sin{2y 10) y:cos(gxz) 1)y =cos®(3x)= [cusLB nﬂ 12) y=sin®(4t)

\/‘:(chg,b(&) \/L:[—SII\.\(,3><Z)](LI(-) 7’:(3 ws 3>‘Y—SIHL3>&\>(3) \/: ll__Sl...xf'-I-lé\:i3

'= 2 0L t=-(xsn(ER)
Iy Iy |

\'= -6 cos3xs m3x y =3 [SIN(“LQTEF"S("‘”]( H)

N'= 125w ca S(L\QR

13) Find the derivative of the trigonometric equation using implicit differentiation.
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